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Problem Card 1 — Teddy Bear

A company makes 756 teddy bears on Monday.
On Tuesday they make 845.

At the end of the day on Wednesday they have
2400 teddy bears.

How many more teddy bears did they make on
Wednesday than Monday?

Problem Card 2 — Lowest

Roll a 6 sided dice 7 times. Use your results to fill

in the boxes.

Work out the calculation then swap compare.

The aim is to get the lowest number.

Problem Card 3 — Missing Digits

Can you work out the missing digits in these calculations?
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150

Problem Card 4 — Pyramid

The number in the square in
the middle is calculated using
the following rule

A+B-C

@ Can you find the number that

should replace the question

mark?
1000




